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Civilization has not succeeded so far, in creating an environment suitable to mental and moral activities of mankind. The
low intellectual and spiritual value of most human beings 1s due largely to deficiencies of their psychological atmosphere.
The supremacy of matter and the dogmas of industnial religion have destroved culture, beauty and morals. The immense
spread of newspapers, cheap literature, radios and cinemas has contributed only to the degeneration of culture.
Unintelligence 1s becoming more and more general, in spite of the course given in schools, colleges, and universities. School
children and students form their minds on the silly programmes of public entertainments. Social environment instead of
favoring the growth of intelligence, opposes it with all 1ts might.

Moral sense 1s almost complete ignored by modem society. We have in fact, suppressed its manifestation. All are imbued
with irresponsibility. Those who discern good and evil, who are industrious and provident, remain poor and are looked upon
as morose. The woman who has several children, who devotes herself to their education instead of to her own career. 13
considered weak-minded. If a man saves a little money for his wife and the education of hizs children, this moneyv is stolen
from him by enterprizing financers or taken by the government and distribute to those who have been reduced to want by
their own improvidence and the short-sightedness of manufacturers, bankers and economists. Artists and men of science
supply the community with beauty, healthy and wealth. They live and die in poverty. Robbers enjoy prosperity and peace.
(Gangsters are protected by politicians and respected by judges. They are the heroes whom children admire at the cinema and
imitate in their games. A rich man has every right. He may discard his money to him_ without losing the consideration of his
friends. Sexual morals have been cast aside. Psvchoanalysts supervise men and women i their conjugal relations. There 1s
no difference between wrong and right, just and unjust. No one makes anv objection to there presence. Ministers have
rationalized religion thev have destroyed its mystical basis. But they do not succeed in attracting modem men. In their half-
empty churched they vainly preach a weak morality, They are content with part of policemen, helping in the interest of the
wealthyv to preserve the framework of present society. Or, like politicians they flatter the appetites of the crowed.

Men are powerless against such psvchological attacks. They necessarily yield to the influence of their group. If one lives in
the company of fools or criminals, one becomes a fool or ciminal. Iselation is the only hope of salvation. But where will the
inhabitants of the new citv find solitude? Said Marcus Aurelius No retreat 15 more peaceful or less troubled than that
encountered by man 1s his own soul.’ But we are not capable of such an effort. We cannot fight out social surroundings
victoriously.

Sub questions

Question Number : 1 Question Id : 68634025514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Ministers have rationalized religion' means

A. they have interpreted religion in a way favorable to themselves.

B. they have severed the connection of religion from faith and belief and given it the stamp of reason.
C. they have made religion a thing of mind instead of a thing of heat.

D. they judge every principle of religion on its merits.

E. None of these

Choose the correct answer from the options given below:

1. Aonly
2. B only
3.C.Donly
4. E only

Options :

686340100801. 1

686340100802. 2

686340100803. 3
686340100804. 4



Questio

n Number : 2 Question Id : 68634025515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A rich man has every right'. What does it mean?

A

B.

C
D.

| )

_.'I_

. The rich are the privileged few chosen by God.

The rich morally enjoy every right because it is as a result of good actions in their previous life that they

have become rich in the life.

. The rich command resources of every type which enable them to claim and get anything they desire.

The rich are not accountable to God for any of their actions because of their having done good deeds in

their former life.

. The government consists of members belonging to rich families and therefore they enact legislations
providing for.

. A only
. A. B only
. C only

.D.E only

Options :

686340100805. 1
686340100806. 2
686340100807. 3
686340100808. 4

Question Number : 3 Question Id : 68634025516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. [Men get peace and salvation 1. PMoral sense
Modern society rejects completely II. |Salvation

Conspicuous paradox of the modem civilisation] 1T [Unintelligence 15 becoming more and more generall

w] fo] o] brg

. [Hope of Isolation IV |In their own souls

Choose the correct answer from the options given below:

1

| E)

L

_1

. A-L B-II. C-III. D-IV

CA-IV. B-1, C-1I. D-III

. A-II1, B-II. C-II. D-I

CA-IV. B-1. C-III, D-II

Options :
686340100809. 1
686340100810. 2



686340100811. 3
686340100812. 4

Question Number : 4 Question Id : 68634025517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The author of the above given passage does not comply with-

A. A men have lost power to fight with attacks of moral degeneration.

B. The wise who can distinguish between good and evil are treated as foolish persons.
C. The industries and faithful remain poor.

D. Peace and prosperity 1s enjoyed by robbers.

E. Man's social sense has to be encouraged and strengthened.

Choose the most appropriate answer from the options given below:
1. D and E only
2. E only
3. Aand B only

4. A B and C only

Options :

686340100813. 1
686340100814. 2
686340100815. 3
686340100816. 4

Question Number : 5 Question Id : 68634025518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correct statement with reference to the writer's view that 'the civilisation has so far failed'

A. to bridge the gap between the affluent and the indigent

B. to create a climate of peace adjustment for co-existence of diverse religions and faiths.

C. to create an environment congenial to the growth of mental and moral activities of mankind.
D. to shape human life along spiritual lives.

E. to provide justice to one and all.

1. A. B only

b2

. C.E only
3. C only
4. D only

Options :
686340100817. 1



686340100818. 2
686340100819. 3
686340100820. 4
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340100801. 1
686340100802. 2
686340100803. 3
686340100804. 4

Question Number : 2 Question Id : 68634025515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340100805. 1
686340100806. 2
686340100807. 3
686340100808. 4
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Correct Marks : 4 Wrong Marks : 1
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686340100809. 1
686340100810. 2
686340100811. 3
686340100812. 4

Question Number : 4 Question Id : 68634025517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340100814. 2
686340100815. 3
686340100816. 4
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Correct Marks : 4 Wrong Marks : 1
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686340100818. 2
686340100819. 3
686340100820. 4
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Read the passage below and answer the questions that follow:

Man's growth from barbarism into civilization is supposed to be the theme of history. But sometimes. looking
at great stretches of history. it is difficult to believe that this ideal has made such progress or that we are very
much civilized or advanced. There is enough of want of co-operation today, of one country or people selfishly
attacking or oppressing another. of one man exploiting another.

It 15 well to remember that man in many ways has not made very great progress from other animals. It may be
that in certain ways some animals are superior to him. Still we look down upon the insects as almost the
lowest of living things. and yet the tiny bees and ants have learnt the art of c0-operation and of sacrifice for the
good of society are the test of civilization. we may say that the bees and ants are in this respect superior to
man. In one of our old Sanskrit books there is a verse which can be translated as follows: "For the family.
sacrifice the individual. for the community. the family. for the country. the community. and for the soul. the
whole world." What the soul 1s few of us can know or tell. and each on of us can interpret it in a different way.
But the lesson this Sanskrit verse teaches us in the same lesson of co-operation and sacrifice for the larger
good. We in India had forgotten this sovereign path to real greatness for a long time. we had so fallen. But
gain we seem to have glimpses of it and all the country is astir. How wonderful it is to see men and women,
and boys and girls, smilingly going ahead in India's cause without caring about any pain or suffering? Well
may they smile and be glad for the joy of serving a great cause which is theirs: and for those who are
fortunate. comes the joy of sacrifice also.

Sub questions

Question Number : 6 Question Id : 68634025520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following sentence is given in four parts.
Choose the option where there is an error.

A. You have not care

B. to see that your

C. expenditure was more
D. than your salary

LA

2.B

3.C

4. D
Options :
686340100821. 1
686340100822. 2

686340100823. 3
686340100824. 4

Question Number : 7 Question Id : 68634025521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is correct as per the statement given below:

What is really the theme of history?

A. The rise and fall of empires.

B. Man's moral and spiritual development.
C. Man's search for truth.

D. The process of man's becoming civilized.

Choose the most appropriate answer from the options given below:

1. Aonly
2. B only
3. Conly
4. D only

Options :

686340100825. 1

686340100826. 2

686340100827. 3
686340100828. 4

Question Number : 8 Question Id : 68634025522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
. [Reason of exploitation | 1. |[Different things for different people
Soul signifies II. |Qualities of mutual help, co-operation and self-sacrifice
'All the country is astir| I[I1. [Lack of civilisation
. |[Truly civilized IV, [Upsurge of moral and spiritual fervour

ol Fo] o] g

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| E)

AL B-1, C-IV. D-II
3. A-IIT, B-1I. C-IV. D-II
4. A-I1, B-1, C-III. D-IV

Options :

686340100829. 1
686340100830. 2
686340100831. 3
686340100832. 4

Question Number : 9 Question Id : 68634025523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What does the expression 'larger good' mean?
1. Great good of oneself
2. Alot of good
3. Very excellent

4. Good of the society

Options :

686340100833. 1
686340100834. 2
686340100835. 3
686340100836. 4

Question Number : 10 Question Id : 68634025524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Animals are superior to man' The above given statement is based on the following aspects:-
A Physical strength
B. Having no cares in their lives
C. Having greater mstinct for co-operation and sacrifice
D. Not oppressing or exploiting one another

Choose the most appropriate answer from the options given below:

1. Aand C only

| )

B only
3. A.Band D only
4. C only

Options :

686340100837. 1
686340100838. 2
686340100839. 3
686340100840. 4
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686340100821. 1
686340100822. 2
686340100823. 3
686340100824. 4
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Options :

686340100825. 1
686340100826. 2
686340100827. 3
686340100828. 4
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Correct Marks : 4 Wrong Marks : 1
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686340100829. 1
686340100830. 2
686340100831. 3
686340100832. 4

Question Number : 9 Question Id : 68634025523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340100833. 1
686340100834. 2
686340100835. 3
686340100836. 4
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Options :

686340100837. 1
686340100838. 2
686340100839. 3
686340100840. 4
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Sub-Section Number : 3
Sub-Section Id : 686340833
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 11 Question Id : 68634025525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement from the following with respect to the Sanskrit Verse:

1. To behave well with one another

| B

. To help each other in difficulties
3. To inculeate the spirit of co-operation and self-sacrifice for the larger good of the society
4. To work constantly

Options :

686340100841. 1
686340100842. 2
686340100843. 3
686340100844. 4

Question Number : 11 Question Id : 68634025525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340100841. 1
686340100842. 2
686340100843. 3
686340100844. 4

Question Number : 12 Question Id : 68634025526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with an appropriate word to make it a meaningful sentence:

Do you think that this recent ministerial announcement a shift in government policy?

1. Augers

| )

. Anger
3. Angurs
4. Augur

Options :

686340100845. 1
686340100846. 2
686340100847. 3
686340100848. 4

Question Number : 12 Question Id : 68634025526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340100845. 1

686340100846 2

686340100847. 3
686340100848. 4

Question Number : 13 Question Id : 68634025527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert the suitable prepositions in the sentence given below:
Not to Victim blame but why did you bring a needle a haystack the first place?

1.1in. in

| )

. in, into
3. into. in
4, into. into

Options :

686340100849. 1
686340100850. 2
686340100851. 3
686340100852. 4

Question Number : 13 Question Id : 68634025527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 $TAB.E.A.C3HRD

Options :

686340100849. 1
686340100850. 2
686340100851. 3
686340100852. 4

Question Number : 14 Question Id : 68634025528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the one word substitution for-
A person who is fond of following:

1. Snigger

| )

. bimbo
3. loony
4. loquacious

Options :

686340100853. 1
686340100854. 2
686340100855. 3
686340100856. 4

Question Number : 14 Question Id : 68634025528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 o & 913 :
GQéaEi Wﬁﬁ filaiﬁl Wd arediy iﬁﬂﬁﬁﬁﬁ@

A & Gew

B. &Y Ugd HINT =4l g1
C. g1 & feiw

D. 39 FHTS &1

E. & & 30T 8

i< fou T fasedi o 9 el SR &1 994 Bifoi:
1. $ad D. A, B, C 3R E

 PATUD. A. C. B 3RE

3.%auD.A.E.C 3R B

4. PadD.B.A. C 3R E

| )

Options :

686340100853. 1
686340100854. 2
686340100855. 3
686340100856. 4

Question Number : 15 Question Id : 68634025529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s one word substitution for-
That which can be freed:

1. extricate

| )

. extricable
3. extenuate
4, exsert

Options :

686340100857. 1
686340100858. 2
686340100859. 3
686340100860. 4

Question Number : 15 Question Id : 68634025529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O B Uit 3R =a &1 -
Suded ey d Fafafad ol & 981 o9 o o -
A. 715 HHd T&pid &1
B. ¢ I H1
C. Y49y AR Bl
D. fAgior
E.9Yd©

i fau Tt faeedi o 9 el SR &1 994 Hifoid:
1. Hdd B, C.ARD
2.%adB.C.D.AJRE
3.%ddB.C.A. D 3R E
4.PaAB.D.A. C 3R E

Options :

686340100857. 1
686340100858. 2
686340100859. 3
686340100860. 4

Question Number : 16 Question Id : 68634025530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option to improve the underlined portion of the sentence given-

Inherently restless by nature. I have had to navigate the heavy tolls of the day and learn how to solve problems
without losing control.

1. adapt and fall

| )

» SUVEY

[F]

. find patience, resolve

4, be kind and collaborate

Options :

686340100861. 1
686340100862. 2
686340100863. 3
686340100864. 4

Question Number : 16 Question Id : 68634025530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et =1 31 gfd BifeTe--
et 4l & g et LRSI
1, faa
2. Bld

4. fa

Options :

686340100861. 1
686340100862. 2
686340100863. 3
686340100864. 4

Question Number : 17 Question Id : 68634025531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Complete the following sentence using the words given in the options.

As inspector Achuthan could not contain his scorn for the corrupt police commissioner, he was imprudent
enough to make remarks about his superior officer.

1. Ambiguous

| )

. dispassionate
3. unfathomable
4. scathing
Options :
686340100865. 1
686340100866. 2

686340100867. 3
686340100868. 4

Question Number : 17 Question Id : 68634025531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i fau U faeedi § 9 3 919y Bifcu|

IR U S ERI T

dre TR TSI el deul

O4 3% Pidard udl g1

YR 32 H g8 §1d B g |

A fou T faeedil o O el SR &1 994 Bifoi:
1. ad A
2. Had B, A
3.%dq C, D

4. PAAC. E

Options :

686340100865. 1
686340100866. 2
686340100867 3
686340100868. 4

Question Number : 18 Question Id : 68634025532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined idiom-
At my friend's tea-party. I fell through a strange fellow.

1. fell back

| )

. fell out

[#5]

. fell in with

4, fallen off with

Options :

686340100869. 1
686340100870. 2
686340100871. 3
686340100872. 4

Question Number : 18 Question Id : 68634025532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G IR DT G DI

1. IR gH <aTD Fell 7|

2. IR gH SEIHR Y 47|
3. IR gH SR &l |
4. IR gH a9 P4 41|

Options :

686340100869. 1
686340100870. 2
686340100871. 3
686340100872. 4

Question Number : 19 Question Id : 68634025533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the correct idiom by choosing from the options given below.

Some are looking up to legislation to hasten the progress of social reforms

1. look up to

| )

. look at
3. look on

4, look to

Options :

686340100873. 1
686340100874. 2
686340100875. 3
686340100876. 4

Question Number : 19 Question Id : 68634025533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
39 g 1 90 P, formd o Suent B

A TIPS, 3HG, UST

B. WIS, Y&, U9
C. UHTG. U< ¥l Uud

D. Wk, U4, WU
E. ufdyr. ufaar, v

A1 feu TTe fasedl O 4 9el STk &1 994 Biford:

1. Fdd A
2. $ad B
3. BAAE
4. %ad D

Options :

686340100873. 1

686340100874. 2

686340100875. 3
686340100876. 4

Question Number : 20 Question Id : 68634025534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTIT
A lhaggard I |anvthing that gives insecurity|
B. |bulwark II. llooking fresh and happy
C. |cabalism II1. |filthv rich
D. [Penury IV |disbelieve in one's religion

Choose the correct answer from the options given below:

1. A-I. B-IV, C-III, D-II

[ )

CA-IV. B-1, C-I1, D-IIT
3. A-III, B-IV. C-II, D-I
4. A-II, B-1, C-IV, D-III

Options :

686340100877. 1
686340100878. 2
686340100879. 3
686340100880. 4

Question Number : 20 Question Id : 68634025534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrafeiad aredl o 3gg arei Bifcy
TS| & RO TR B HTFHaR g > Y §8 6|
1. TSI & BRI

AR @1 HfgHa
P 31 ot
 §g 3l

Options :

686340100877. 1
686340100878. 2

686340100879. 3
686340100880. 4

[ ]

[&#N]

e

Question Number : 21 Question Id : 68634025535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose from the options below. the correct synonym of the word-'Ermine’:

1. not regular

| B

. the white winter fur

L% ]

. to express or feel delight at one's own success
4. a tiny drop or ball

Options :

686340100881. 1

686340100882. 2

686340100883. 3
686340100884. 4

Question Number : 21 Question Id : 68634025535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[t~ are H e w41 &1 gfd Sl
1 S 3T TG Pl S 71 Pe T |

79
g
T
4. 4TS

—

| )

LFN]

Options :

686340100881. 1
686340100882. 2
686340100883. 3
686340100884. 4

Question Number : 22 Question Id : 68634025536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences in order to make a meaningful paragraph.

A. With practice and patience. our intuitive skills get sharpened and we learn to be lethal with our timing of
humour.

B. Comedians. actors. speakers and all artist know and respect the value of perfect timing.

C. Eventually. with heightened sensitivity and timing we become healers of souls through humour.

D. A moment that 1s not used well will never come back again no matter what.

E. Likewise. humour delivered at a wrong time also can cause harm rather heal.

I: B: 13, G Bk

b2

A B CDE
3.3B.D.EAC
4 E D, C.B.A
Options :
686340100885. 1
686340100886. 2

686340100887. 3
686340100888. 4

Question Number : 22 Question Id : 68634025536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau U areEt & 9 uftpd o &1 99 B -
aTF - 3T R H YA g |

3T T[E- Wav B

. TS U8- YA B

3. 3T R ¥ foenfud g1 8

4 TR ETIR®EI

[

[

Options :

686340100885. 1
686340100886. 2
686340100887. 3
686340100888. 4

Question Number : 23 Question Id : 68634025537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with a correct phrasal verb:
He's again after his accident.

1. getting about

| )

. getting above
3. getting in
4. getting across
Options :
686340100889. 1
686340100890. 2

686340100891. 3
686340100892. 4

Question Number : 23 Question Id : 68634025537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeRad arel o SIS ared HH-91 82
1. Fafsat g @ §
Fafedt g viem &t €
Faf&sat g =radi §

| )

L

=

Options :

686340100889. 1
686340100890. 2
686340100891. 3
686340100892. 4

Question Number : 24 Question Id : 68634025538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the suitable phrasal verb from the list below-
We were going on my brother-in-law. but he was not home

1. to look down

| )

. to look in
3. to look

4. to look out

Options :

686340100893. 1
686340100894. 2
686340100895. 3
686340100896. 4

Question Number : 24 Question Id : 68634025538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T 3R GH H U5 aTd Fq oI & [y U% ¥eg o--

1. 3H¥Ig
2.94d
3. 9g
4. %Il%

Options :

686340100893. 1

686340100894. 2

686340100895. 3
686340100896. 4

Question Number : 25 Question Id : 68634025539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following question the first and the last parts of the sentence are numbered as 1 and 6. The rest of the
sentence 1s split into four parts and named P, Q. R and S. These four parts are not given in their proper order.
Read the sentence and choose the option in which the combination 1s correct.

1. After a laborious life

P. to the quite village where he was born

Q. most of which he had spent on the metropolis.
R. and where he intended to spend

S. he retired in his old age

6. his remaining years

1. QRPS

| )

. QSPR
3. SPQR
4. SQPR

Options :

686340100897. 1
686340100898. 2
686340100899. 3
686340100900. 4

Question Number : 25 Question Id : 68634025539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il & 9U § S AT iy & o7 Ue v §
1. sf<ar faug
2. élaalfﬂﬁ
24 QEGHFI
4, sléaiaﬂ
Options :
686340100897. 1
686340100898. 2

686340100899. 3
686340100900. 4

Question Number : 26 Question Id : 68634025540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences in a sequence so as to form a meaningful paragraph and choose the correct
option:

A Across the sky flashed scenes from his life.

B. He dreamed he was walking along the beach with the lord.

C. One night a man had a dream.

D. For each scene, he noticed two sets of foot prints in the sand: one to him and the other to the lord.

1.C.B.A.D
2.B.C.A.D
3.C.D.B.A
4.D.C.B.A

Options :

686340100901. 1
686340100902. 2
686340100903. 3
686340100904. 4

Question Number : 26 Question Id : 68634025540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T 1 T 1
GLEIRY) (U ed)
A [oTeHT 3 gren oiga 1 [aam
B. [l U™ quiey d [gofad 91 g3 &l | 1. [gusdie
C. [ § gaisd 1 [t
D. [dtbe ®Hd V. [aod
frafafad foeedl & T 9gt SR 1 g i

1. A-I. B-II. C-II1, D-IV
2. A-IIT. B-TV. C-11. D-1
3. A-ITT. B-IV. C-1. D-I1
4. A-I11. B-1. C-II. D-IV

Options :

686340100901. 1

686340100902. 2

686340100903. 3
686340100904. 4



Question Number : 27 Question Id : 68634025541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined words in the following sentences.

'"The tide of emotions rose and came to an end'.

A. comes to an end
B. dies out

C. died out

D. No change

Choose the correct answer from the options given below

1. C only
2. Aonly
3. B only
4.D only

Options :

686340100905. 1

686340100906. 2

686340100907. 3
686340100908. 4

Question Number : 27 Question Id : 68634025541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST Xeg; 1 [ Ssa o1 BTI-
1. quur
2. JHYT
3. 3quii

4. 780

Options :

686340100905. 1
686340100906. 2
686340100907. 3
686340100908. 4

Question Number : 28 Question Id : 68634025542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Improve the following given sentence by replacing the underlined words with the options provided below:

Inaugurating the 100th birth year celebrations of Mahatma Gandhi. the prime minister has well done to restate
the fundamental tenets of Non-violence and intolerance.

1. has well done in restating
2. has done well to restate
3. has done well in restating
4. has done good in restating
Options :
686340100909. 1
686340100910. 2

686340100911. 3
686340100912. 4

Question Number : 28 Question Id : 68634025542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeRad gerax &1 31 &1 ghT-
B-3 MU

1. §4 39 & b

2. WTe] IR 59
3. RIfaauITet! gl
4. FRAAT

Options :

686340100909. 1
686340100910. 2
686340100911. 3
686340100912. 4

Question Number : 29 Question Id : 68634025543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which can substitute the underlined group of words correctly. without changing the meaning
of the sentence.

Th plight of Tsunami victims must be seen to believe.
1. have been seen to believe
2. have been seen for believing
3. have seen for belief

4, be seen to be believed

Options :

686340100913. 1
686340100914. 2
686340100915. 3
686340100916. 4

Question Number : 29 Question Id : 68634025543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST UITST 3O BT AlepifeR 1 T 34 -
1. SO TS T e
T OISt SO BT H Al
3, U= T &I €970 W1 W98 T GHT &
4. T TS W AR 918U

| B

Options :

686340100913. 1
686340100914. 2
686340100915. 3
686340100916. 4

Question Number : 30 Question Id : 68634025544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the options which can substitute the underlined group of words correctly, without changing the
meaning of the sentence.

Most of the shopkeepers in the town. they supported the striking employees of the market.

1. Most of the politicians in the town supported

2. Most of the politicians in the town provided support for
3. The politicians in the town. most of them supported

4. of the politicians in the town mostly supported

Options :

686340100917. 1
686340100918. 2
686340100919. 3
686340100920. 4

Question Number : 30 Question Id : 68634025544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP Yeg fogdT AT g BT

1. 3IdU]

Options :

686340100917. 1
686340100918. 2
686340100919. 3
686340100920. 4

Question Number : 31 Question Id : 68634025545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A started a business with 2 25.000 and is joined afterwards by B with T 40.000. After how many months did B
join if the profits at the end of the year are divided equally?

1::3

2.4

]

4.

LA

Options :

686340100921. 1
686340100922. 2
686340100923. 3
686340100924. 4

Question Number : 31 Question Id : 68634025545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 725,000 % FEW & 91U U6 o009 ARY 601 IR SIS IS B SY GIN H £ 40,000 F AU &
Ty iferd go | afe o & sid & &1 &1 §R1aR giel oa &1 of B f5an A1e 9@ 59 oawmd & wifaa
/I UP

1:3

2
Ry

3,41
2

4.

Ly

Options :

686340100921. 1
686340100922. 2
686340100923. 3
686340100924. 4

Question Number : 32 Question Id : 68634025546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three partners P. Q. R start a business. Twice of P's capital is equal to thrice of Q's capital and Q's capital 1s
four times of R's capital. Out of a total profit of T 27.500 at the end of the year, Q's share is:

1.7 8.000

| )

. < 10,000
3.2 12,000
4.3 14,000

Options :

686340100925. 1
686340100926. 2
686340100927. 3
686340100928. 4

Question Number : 32 Question Id : 68634025546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I SIER P, Q @R U a9 AR™ HA & | P B G ot Q 1 fai il & RIaR § SR Q I USit R &
Uoll B AN 31 ad & S B gU 2 27.500 F Y H Q I e a1 37

1.2 8,000
2.2 10,000
3.7 12,000
4.2 14,000
Options :
686340100925. 1
686340100926. 2

686340100927. 3
686340100928. 4

Question Number : 33 Question Id : 68634025547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An amount of 10,000 becomes T14.641 is 2 years if the interest in compounded half-yearly. What 1s the rate
of compound interest per annum?

1. 10%

3. 20%

4. 25%



Options :

686340100929. 1
686340100930. 2
686340100931. 3
686340100932. 4

Question Number : 33 Question Id : 68634025547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

le Sfs-aIties Tehgfa S & SR R 210,000 I 4RI 2 a9 T 214,641 I Sl §1 Al Tbgfs &
P aIfties o 1 &7

1.10 %

]
—_
n
=)
o

4.25 %

Options :

686340100929. 1
686340100930. 2
686340100931. 3
686340100932. 4

Question Number : 34 Question Id : 68634025548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man bought goods worth Rs.10.000 and sold half of them at a gain of 10%. At what gain percent must he
sell the reminder so as to get a gain of 25% on the whole?

1. 10%

| B

. 15%

4. 40%

Options :

686340100933.
686340100934.
686340100935.
686340100936.

A W N =

Question Number : 34 Question Id : 68634025548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U T A 7 10,000 I B! aw3f1 BT 4 dhan 3R 578 ¥ 3meft axgafl & 10% & @y =R fashy o
1 Y TEGS Bl a8 [ W= Ty R &9 difd 38 TR0 0% 25% 1 a1 82

1. 10%

2
—_
n
(=]
[=]

3. 25%
4. 40%

Options :

686340100933.
686340100934,
686340100935.
686340100936.

AW N —

Question Number : 35 Question Id : 68634025549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a shopkeeper sells 1/3 of his goods at a profit of 14%. 3/5 of the goods at a profit of 17.5% and the
remaining at a profit of 20%, then his profit on the whole is equal to:

1. 15%

| B

. 16.5%
3. 20%
4. 25%

Options :

686340100937. 1
686340100938. 2
686340100939. 3
686340100940. 4

Question Number : 35 Question Id : 68634025549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4l U GBTHER Y- T3 & 1/3 HTT DI 14% & 14, T3 D 3/5 URT DI 17.5% & A1H SR Y
TELSI B 20% o AT U §<dT § ol Fegul aEgsi W a1y (s IR 62

1. 15%

-2
ok
%
n
=]
o



Options :

686340100937. 1
686340100938. 2
686340100939. 3
686340100940. 4

Question Number : 36 Question Id : 68634025550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman got 76% marks and Neha got 480 marks in a test. The maximum marks of the test is equal to the marks
obtained by Aman and Neha together. How many marks did Aman score in the test?

1. 1300

| )

. 1420
3. 1500
4, 1520

Options :

686340100941.
686340100942.
686340100943.
686340100944.

AW N —

Question Number : 36 Question Id : 68634025550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TRI&T H 310 3 76% 3% U U 3R 87T 480 319 U fru | e & if¥edy Sid o= iR 8T
GRI TS 1Y HeiTeR UIed §U Sithl & aRIaR &, ol 59 TR H 3 A fber 3iep Ui fopdl 22

1. 1300

|

. 1420
3. 1500
4. 1520

Options :

686340100941.
686340100942.
686340100943.
686340100944.

AW N~

Question Number : 37 Question Id : 68634025551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. . s I . . .
If the price of rice falls by 2 > % . a person can buy 9 kg more of rice for 1,260 than before. If the price had

; I :
risen by 12 = % . how much rice would he have bought for the same sum?

1.310 kg

-2

312 kg

3.315 kg

4. 320 kg

Options :

686340100945. 1
686340100946. 2
686340100947. 3
686340100948. 4

Question Number : 37 Question Id : 68634025551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfd =ad & gl | 2%%.&3&?{6?%%#[%@4% ggal @1 a1 | 2 1.260 H 9 T 31f¥as Frae
BE YPdI 6| ik Aaa S a1 12— %, P gl g5 o/dl & af Sugad A1 1 fba I wxie gl
U1
1. 310 fopamm

312 fem

3. 315 fooun

4. 320 fooum
Options :
686340100945. 1
686340100946, 2

686340100947. 3
686340100948. 4

b |

[

Question Number : 38 Question Id : 68634025552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥ 1,820 are divided among A. B and C. The share of A 1s g of the combined share of B and C. Then A gets
how much amount?

1.% 420

2.2480

3.2500

4.3 520

Options :

686340100949. 1
686340100950. 2
686340100951. 3
686340100952. 4

Question Number : 38 Question Id : 68634025552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.B 3R C H 71,820 [quIfsrd {60 SIId 51 A &1 [§ET B ﬁ?t%iﬁiﬂﬂﬁ%@ﬁ%% dar Al fepaHl
eI faretaflo

1.2420

[ ]

.2 480
3.2 500
4.2 520

Options :

686340100949. 1
686340100950. 2
686340100951. 3
686340100952. 4

Question Number : 39 Question Id : 68634025553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ages of P and Q are presently in the ratio of 5:6 respectively. After six years, this ratio will become 6:7
respectively. What was Q's age 10 years ago?

1. 26 years

| )

.31 years
3. 33 years
4. 35 years

Options :

686340100953. 1
686340100954. 2
686340100955. 3
686340100956. 4

Question Number : 39 Question Id : 68634025553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 3R Q 1 TUHI 3ATY BT U HHI: 5:6 1 T: T YL TG 9T HH: 6:7 T SN o 10 ¥ gt
Q &I g Far 4
1.26 a4
3199
3399

4.3599

Options :

686340100953. 1
686340100954. 2
686340100955. 3
686340100956. 4

| )

Lad

Question Number : 40 Question Id : 68634025554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three pipes P. Q and R can fill a tank in 6 hours. After working at it together for 2 hours. R is closed and P and
Q can fill the remining part in 7 hours. The number of hours taken by R alone to fill the tank is:

1. 10

| )

12
3. 14
4.16

Options :

686340100957. 1
686340100958. 2
686340100959. 3
686340100960. 4

Question Number : 40 Question Id : 68634025554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dF UESU P, Q AR R BE UC T UHh bl &l WR gHhd o | Y UISUi &1 2 §¢ 9% Tia- & 918 USY R B §g
® 301 a1 § SiR UIgY-P UG Q 99 M &1 7 62 & YR I d &, ol 3dbdl R gRI 8 ¢l &l W37 H f&aa
ge @

1. 10

b2

12
3. 14
4. 16

Options :

686340100957. 1
686340100958. 2
686340100959. 3
686340100960. 4

Question Number : 41 Question Id : 68634025555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P takes twice as much time as Q or thrice as much time as R to finish a piece of work. Working together, they
can finish the work in 5 days. Q can do the work alone in:

1. 10 days

| )

. 13 days
3. 15 days
4. 18 days

Options :

686340100961. 1
686340100962. 2
686340100963. 3
686340100964. 4

Question Number : 41 Question Id : 68634025555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P T & Uh HFT &I QR P H Q F SFAT AT R ¥ KA TG Tl & | d U Ty Hads 59 B &l 5
feT H QT HR Tl €. 41 151 Q 3 B &l b g H ax g 82

1. 10 T8
13187
3,15
4.18fa=

Options :

686340100961. 1
686340100962. 2
686340100963. 3
686340100964. 4

| )

Question Number : 42 Question Id : 68634025556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rohan takes 2 hours more than Soham to walk 50 km. but if Rohan doubles his speed, then he can make it in 1
hour less then Soham. How much time does Soham require for walking 50 km?

1.4 hrs

[ ]
L=
=3
i

4,10 hrs

Options :

686340100965. 1
686340100966. 2
686340100967. 3
686340100968. 4

Question Number : 42 Question Id : 68634025556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e, 50 oot Uga ae- & Hig &1 ga-1 1 2 °¢ &1 994 U odl 5. Al afe g 01 71 SR
aﬂﬂf%ﬂ%@@%ﬁﬁgﬂmﬁlﬁmHﬂﬂﬁmm%l 15 g1 50 fohdlt O Ugq 9a | a1 90y
HEWS 72

1.44C
64
.8 H¢
4. 109

Options :

686340100965. 1
686340100966. 2
686340100967. 3
686340100968. 4

| )

L]

Question Number : 43 Question Id : 68634025557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two trains of equal length are running on parallel tracks in the same direction at 40km/hr and 30 km/hr. The
faster train passes the slower train in 54 seconds. The length of each train is:

1.50m

| )

.60 m
3.70m
4. 75 m

Options :

686340100969.
686340100970.
686340100971.
686340100972.

AW N —

Question Number : 43 Question Id : 68634025557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUT AT aTa af 2 S 40 e/ et aun 3o et der 3t 1fd @ ToHieR 3 § uoHE e d =5
?ﬁgt e A T T =9e areft 24 s0 Ibs § it 1y areft 27 I eR 9t 81 9 vdw 2 g
TR

1. 50 HIc?
2. 60 Hlex
3. 70 Hier
4.75 HleX
Options :
686340100969. 1
686340100970. 2

686340100971. 3
686340100972. 4

Question Number : 44 Question Id : 68634025558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The and water in two vessels P and Q are in the ratio 5:2 and 2:3 respectively. In what ratio. the liquids in both
the vessels be mixed to obtain a new mixture in vessel R containing milk and Half water?

1.3:14

| )

TS
3.3:10
4. 1:15

Options :

686340100973. 1
686340100974. 2
686340100975. 3
686340100976. 4

Question Number : 44 Question Id : 68634025558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 3R Q UE H G 3R WIel Bl SJUId SHHY: 5:2 3R 2:3 &, A1 &Il U H Rel Uerdf &1 oo 3ard #
ATy forar oe. o Ut R & 318 g8 ST 319 STd &1 =47 [E%01 Ured faar o 9ah?

1.3:14

b2
=
=
L

4.1:15

Options :

686340100973. 1
686340100974. 2
686340100975. 3
686340100976. 4

Question Number : 45 Question Id : 68634025559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many liters of water should be added to a 30 liters mixture of milk and water in the ratio of 7:3. such that
the resultant mixture has 60% milk in it?

| ]
L



Options :

686340100977. 1
686340100978. 2
686340100979. 3
686340100980. 4

Question Number : 45 Question Id : 68634025559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7:3 & ST A g 3R o7d & 30 Tiex [0 d fa- ez oa e ST arfet, o 59 o 60
TC=Td g8 517

1.6

]
N

4.3

Options :

686340100977. 1
686340100978. 2
686340100979. 3
686340100980. 4

Question Number : 46 Question Id : 68634025560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The altitude drawn to the base of an 1sosceles triangle 1s § cm and the perimeter 1s 32 cm. Find the area of the
triangle?

1. 40 em?
244 cm?
3. 46 cm?

4. 48 em?

Options :

686340100981. 1
686340100982. 2
686340100983. 3
686340100984. 4

Question Number : 46 Question Id : 68634025560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[l TG aTg BYe & oMyR d@ oiftd 31 115 FhdTs 8 ST SR gk 32 I 51 Fel &1 &3 9rd
P

1. 40 THI
.44 JH2
3. 46 912
4. 48 912

b2

Options :

686340100981. 1
686340100982. 2
686340100983. 3
686340100984. 4

Question Number : 47 Question Id : 68634025561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hemispherical bowl of internal radius 9 cm contains a liquid. This liquid is to be filled into cylindrical
shaped small bottles of diameter 3 cm and height 4 cm. How many bottles will ne needed to empty the bowl?

1.48

[ ]
n
o]

4,56

Options :

686340100985. 1
686340100986. 2
686340100987. 3
686340100988. 4

Question Number : 47 Question Id : 68634025561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o Tt TR BsaT &1 U SeFTApR HeRT bl 5d B Sy Bl o | 59 &d &1 PR HPHid
arelt 3 T o SR 4 S G, arel R H 1R S § | PR S ETe $RA & (o [ iR $t
HTGRgeHdl Bl

1. 48

[
n
=]

o
[ ]
oy

4. 506

Options :

686340100985. 1
686340100986. 2
686340100987. 3
686340100988. 4

Question Number : 48 Question Id : 68634025562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hollow hemisphere and a cone have equal bases. If their are also equal. then the ratio of their curved surface
area will be:

1.1:3
-JE:I
--\E:]

| )

LoN]

4.5-1

L

Options :

686340100989. 1
686340100990. 2
686340100991. 3
686340100992. 4

Question Number : 48 Question Id : 68634025562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U QREdl HEFNAPR SR U X B SMUR 99 ¢ 1 3¢ S9! Sargail +f 90 € df 395 asb gy
QAT BT SUTd 1 BH?

Options :

686340100989. 1
686340100990. 2
686340100991. 3
686340100992. 4

Question Number : 49 Question Id : 68634025563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many different ways can the letters of the word "TRANSPORT' be arranged the vowels always come
together?

1. 20150

| )

. 20160
3.20170
4. 20180

Options :

686340100993. 1
686340100994. 2
686340100995. 3
686340100996. 4

Question Number : 49 Question Id : 68634025563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'TRANSPORT ¥eg & Uil &! fara- fie aiies & ouafud fooar o 9ol & difdh W= Us Ty 32

1. 20150

| )

. 20160
3.20170
4. 20180

Options :



686340100993. 1
686340100994. 2
686340100995. 3
686340100996. 4

Question Number : 50 Question Id : 68634025564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In how many ways can a group of 5 men and 2 women be made out of a total of 7 men and 3 women?

1. 60

[ )
h
| ]

4. 68

Options :

686340100997. 1
686340100998. 2
686340100999. 3
686340101000. 4

Question Number : 50 Question Id : 68634025564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od 7 43N 3R 3 Ofgans O 9 5 gyl Ud 2 Afgensi &1 v 9qg fea- ddie! I g1 o 9l 82

1. 60

I
Lo
| )

4. 68

Options :

686340100997 1
686340100998. 2
686340100999. 3
686340101000. 4

Question Number : 51 Question Id : 68634025565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a simultaneous throw of a pair of dice. find the probability of getting a total more than 87

-
12
w5
14
5.
18
7
,
18
Options :

686340101001. 1
686340101002. 2
686340101003. 3
686340101004. 4

Question Number : 51 Question Id : 68634025565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O & U T &1 U 1Y ] ol 5. ol pd 8 F IS U 1 1 Wiflidsdl Jia1 Siforg 2

[ ]

< Z|w Bl S|w

o0

Options :

686340101001. 1
686340101002. 2
686340101003. 3
686340101004. 4

Question Number : 52 Question Id : 68634025566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A card 1s drawn from a pack of 52 cards. The probability of getting a queen of club or a king of heart 1s:

[ ]

Options :

686340101005. 1
686340101006. 2
686340101007. 3
686340101008. 4

Question Number : 52 Question Id : 68634025566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%rr-‘ﬂ%? 52 gl & O U o fAieeTen oran 2. df ISt @6 ue T 1 U & Ue IS &1 9 &1 Wi dT &

[ ]

Options :

686340101005. 1
686340101006. 2
686340101007. 3
686340101008. 4

Question Number : 53 Question Id : 68634025567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 4 h 15 cz — ;1:

f—=—and—=—then— s
b 5 c 16 e +a

3
P
25
6
)
25
5
25
9
v, A
25
Options :

6863401010009. 1
686340101010. 2
686340101011. 3
686340101012. 4

Question Number : 53 Question Id : 68634025567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?'Ilﬁ ﬂ:iéﬁ? ﬁ:ﬁ% i—_ﬁcz—ﬂ': W%a

b 5 c 16 c +da

; 3

25

, 8

25

2

25

i 2

25

Options :

6863401010009. 1
686340101010. 2
686340101011. 3
686340101012. 4

Question Number : 54 Question Id : 68634025568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I .
If g+ f_ =] and b +— = |. then what is the value of abe?
) c

4.0

Options :

686340101013. 1
686340101014. 2
686340101015. 3
686340101016. 4

Question Number : 54 Question Id : 68634025568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 |
afd a+ ==1 3R b +— = 1.8 l abe DI HH T2
] c

1.-1

4.0

Options :

686340101013. 1
686340101014. 2
686340101015. 3
686340101016. 4

Question Number : 55 Question Id : 68634025569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| 1.
If 2x + — = 6. then 3x + — is equal to:
3x 2x
1.4
2.8
3.0



Options :

686340101017. 1
686340101018. 2
686340101019. 3
686340101020. 4

Question Number : 55 Question Id : 68634025569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 2_1:+|—: (}.%T‘ﬁl\’#k%wwg?
4 ZX

1.4

[ ]
]

4. 12

Options :

686340101017. 1
686340101018. 2
686340101019. 3
686340101020. 4

Question Number : 56 Question Id : 68634025570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a +b +c” .
- s

a —be

If a +b+c=0. then the value of

| )
(=

[F%]
[ B

4.3

Options :

686340101021. 1
686340101022. 2
686340101023. 3
686340101024. 4

Question Number : 56 Question Id : 68634025570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g a+b+c=0%.dl &';fmmﬁa&m%?
a —oc

| ]
—t

4.3

Options :

686340101021. 1
686340101022. 2
686340101023. 3
686340101024. 4

Question Number : 57 Question Id : 68634025571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the area of the circle in the figure is 367 em? and ABCD is a square. then the area of AACD. in em?. is:

A B

12

4. 36

Options :

686340101025. 1
686340101026. 2
686340101027. 3
686340101028. 4

Question Number : 57 Question Id : 68634025571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=9 &1 718 oTpfa T 90 1 895 361 em” © 3R ABCD U @1 ©. 1 (em? ) AACD & &F0%d &1 37
A B

12

1.12 =
, 36
T

3.12
4. 36

Options :

686340101025. 1
686340101026. 2
686340101027. 3
686340101028. 4

Question Number : 58 Question Id : 68634025572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A piece of wire 78 cm long 1s bent in the form of an 1sosceles triangle. If the ratio of one of the equal sides to
the base 5:3. then what 1s the length of the base?

1. 16 em

| )

.18 cm
3. 20 em

4, 30 ¢m

Options :

686340101029. 1
686340101030. 2
686340101031. 3
686340101032. 4

Question Number : 58 Question Id : 68634025572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



78 9Ul o U R I U JHgalg & U T HIS1 9Idl ¢ | afe GaE Yol 1 9 Te e 3R
SR T ST 5:3 8 °1 SR B 9aTs 91 82

1. 16 94l
.18 At
3.20 941
4.30 gHt

Options :

686340101029. 1
686340101030. 2
686340101031. 3
686340101032. 4

| )

Question Number : 59 Question Id : 68634025573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A sum of money at simple mterest amounts to Z 815 in 3 years and to T 854 m 4 years. The sum 1s:

1.2 650
2.2690
3. 20698
4.2700

Options :

686340101033. 1

686340101034. 2

686340101035. 3
686340101036. 4

Question Number : 59 Question Id : 68634025573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TER] 1S UR Uh Y11 3 a8 T 2815 AR 4 aU T 2 854 G4 oI1dll g, al ST el &= febaiT ot
1.7 650
2.3 690
3.3698
4.% 700

Options :



686340101033. 1
686340101034. 2
686340101035. 3
686340101036. 4

Question Number : 60 Question Id : 68634025574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of six numbers 1s m and the arrange of three of these is v. If the average of the remining three 1s
Z, then:

l.2Zm=y+z

| )

2y=m+tz
3. 2z=m+y
dm=2y+z

Options :

686340101037. 1
686340101038. 2
686340101039. 3
686340101040. 4

Question Number : 60 Question Id : 68634025574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ T3 &7 39d m & 3R 78 9 diF el &1 ofd y 2| afe 9 dF e 1 S z g .

1.2m=y+z

-

|

2y=m+z

3.2z=m+vy

4 m=2y+z

Options :

686340101037. 1
686340101038. 2
686340101039. 3
686340101040. 4

Question Number : 61 Question Id : 68634025575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of five consecutive numbers is m. If the next two numbers are also included. how shall the
average vary?

1. It shall increase by 2
2. It shall increase by 3
3. It shall increase by 5

4, It shall remain the same

Options :

686340101041. 1
686340101042. 2
686340101043. 3
686340101044. 4

Question Number : 61 Question Id : 68634025575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui FFRoR T3t o1 39d m § | afc 3T &f 3T Ty Jieferd & oiral @ df Sied o giRafad
BI?

SHH 2 31 G ghfl|
598 3 B glg g
< sFr g e
T8 THH R |

—

| )

(5]

=

Options :

686340101041. 1
686340101042. 2
686340101043. 3
686340101044. 4

Question Number : 62 Question Id : 68634025576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the first to overs of a cricket game. the run rate was only 3.2. What should be the run rate in the remaining
40 overs to reach the target of 282 runs?

1.6

[ ]
&
|
]

4.8

Options :

686340101045. 1
686340101046. 2
686340101047. 3
686340101048. 4

Question Number : 62 Question Id : 68634025576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepahe o Ueh We o YYH H TAXC bael 3.2 U1 /W 40 3aR H 282 i & @80 W Yga- o feiu 39 3¢
HElElis

1.6

[ ]
o
[ ]
"]

4.8

Options :

686340101045. 1
686340101046. 2
686340101047. 3
686340101048. 4

Question Number : 63 Question Id : 68634025577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 5 workers can collect 60 kg wheat in 3 days. how many kilograms of what will 8 workers collect in 5 days?

1. 140

| )

. 160
3. 180
4. 200

Options :



686340101049. 1
686340101050. 2
686340101051. 3
686340101052. 4

Question Number : 63 Question Id : 68634025577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt s 9ft 3 R 7 60 oo g T @ T 2, o s 4t s e B e fooon g i

1. 140

|

. 160
3. 180
4. 200

Options :

686340101049. 1
686340101050. 2
686340101051. 3
686340101052. 4

Question Number : 64 Question Id : 68634025578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The cost of 8 Pens and 14 fans 1s T 500. What 1s the cost of 12 pens and 21 fans?

1.2 600

[ )

.2 700
3.2750
4. Z 800

Options :

686340101053. 1
686340101054. 2
686340101055. 3
686340101056. 4

Question Number : 64 Question Id : 68634025578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



8 O 31X 14 U] D1 BIHAT 2 500 ©. dF 12 U9 3R 21961 & SIAd 1 82

1.2 600

| )

< 700
3.2750
4.2 800

Options :

686340101053. 1
686340101054. 2
686340101055. 3
686340101056. 4

Question Number : 65 Question Id : 68634025579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ¥ =" then ( X ]" is equal to:
”

% -

Options :

686340101057. 1
686340101058. 2
686340101059. 3
686340101060. 4

Question Number : 65 Question Id : 68634025579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4.
3

e | =

Options :

686340101057. 1
686340101058. 2
686340101059. 3
686340101060. 4

Question Number : 66 Question Id : 68634025580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



By folding the sheet shown in above figure, which of the following figure can be formed?

3
1,
6 |
1
%
2 3 5
2
3
6 -+
3
4. 4
1
Options :

686340101061. 1
686340101062. 2
686340101063. 3
686340101064. 4

Question Number : 66 Question Id : 68634025580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suge Mid 1 2iic I ArgH R FafiRad & I St sMpid &1 =9 Jgu Sl

3
1. |
6
1
"
3 5
2
3 4
6
3
4 4
1
Options :

686340101061. 1
686340101062. 2
686340101063. 3
686340101064. 4

Question Number : 67 Question Id : 68634025581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many squares exist in the given figure?

—_
Ln

[ ]
iy

4.8

Options :

686340101065. 1
686340101066. 2
686340101067. 3
686340101068. 4

Question Number : 67 Question Id : 68634025581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sydad safa  fara o 82

2
[o

4.8

Options :

686340101065. 1
686340101066. 2
686340101067. 3
686340101068. 4



Question Number : 68 Question Id : 68634025582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the option which will continue the series in problem figure:

Problem Figure

| N N
T
NN )
—=
1 —
L ]
—
2 —1
o]
3.
.r‘"__
40 —1
L
Options :

686340101069. 1
686340101070. 2
686340101071. 3
686340101072. 4

Question Number : 68 Question Id : 68634025582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y fdeed o1 98- SIS, & I0=1 HTHid § 4@ ol ORI 3@l

I SIPpid

&
N
&

—
1 —1
[ ]
=
20—
8]
3.
-I::—
40 —1
L
Options :

686340101069. 1
686340101070. 2
686340101071. 3
686340101072. 4

Question Number : 69 Question Id : 68634025583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which options will complete the given figure matrix?

BD, | CE, | DF,
EG, | FH, | GI
HI, | 1K, | 2

(4]

g

4.1L¢>

Options :

686340101073.
686340101074.
686340101075.
686340101076.

AW N —

Question Number : 69 Question Id : 68634025583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 1 faped 4 TS SMPRT SHToYE BT I P

BD, | CE, | DF,
EG, | FH, | GI
HI, | IK, [ 2

[

]

1. Iy
305
3. JKyg
4. 1Ly
Options :
686340101073.
686340101074.

686340101075.
686340101076.

AW N —

Question Number : 70 Question Id : 68634025584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ina certain language. digits 0. 1, 2. 3. 4, 5, 6, 7, 8. 9 are written as a, b, ¢. d. e. £, g. h. 1. j and 10 is written as

ba.thende = f—(bf—d) xd= 2

1. abb
2. abe
3. bee
4, bef

Options :

686340101077. 1

686340101078. 2

686340101079. 3
686340101080. 4

Question Number : 70 Question Id : 68634025584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e AT amTH 0. 1. 2 4<ﬁ*swﬁaﬁwcdef hij P EOHE RTS8 3R 10 P ba
%wﬁﬁ@w%mdc f—(bf—d) x d= ;

1. abb
2. abe
3. bee

4. bef

Options :

686340101077. 1
686340101078. 2
686340101079. 3
686340101080. 4

Question Number : 71 Question Id : 68634025585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the first day of a leap year was Friday, then which will be the last day of that year?

1. Friday

[ )

. Saturday
3. Sunday

4. Monday

Options :



686340101081. 1
686340101082. 2
686340101083. 3
686340101084. 4

Question Number : 71 Question Id : 68634025585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g U 3ffeay (ciy 24%) & Uud [3a9 IR YehaR o1 dl 39 au &7 iy fEad o1 gem

1. YEPAR
IEGIE

fgar
4. GHHdR

Options :

686340101081. 1
686340101082. 2
686340101083. 3
686340101084. 4

| )

[#5]

Question Number : 72 Question Id : 68634025586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which letter 1s sixteenth to the right of the letter which is fourth to the left of I?

1.8

| )

i b
3. U
1.V

Options :

686340101085. 1
686340101086. 2
686340101087. 3
686340101088. 4

Question Number : 72 Question Id : 68634025586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gul & ST Yidgal gul S 18, ot 1 & 91 H 91T 89

1.5

2

T
3.
4.V

Options :

686340101085. 1
686340101086. 2
686340101087. 3
686340101088. 4

Question Number : 73 Question Id : 68634025587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepak travelled towards North, then tuned left and again travelled to his left 4 km. He found himself exactly
3 km West of his point. How far did he travel towards North mitially?

1. 2 km
2. 4km
3. 5km
4.6 km
Options :
686340101089.
686340101090.

686340101091.
686340101092.

AW N —

Question Number : 73 Question Id : 68634025587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



diue IR fa= @t 3R ara ST g, S8 a1 98 910 751 8 3R T: 301 aT5 3R 4 el a gmn
Rl & | T8 T4 B 39 IR fig & 9ftm o 3w 2 fvdt )R urar € o S99 R § SR e
fepaHit amT it 4o

1.2 fpdt
.4 fopmit
3. 5 fopddt
4. 6 fooit

Options :

686340101089. 1
686340101090. 2
686340101091. 3
686340101092. 4

| )

Question Number : 74 Question Id : 68634025588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A is the west of B, C is to the South of A. E is to the north of B and D is to the east of E. Then C is in which
direction with respect to D?

1. South-East
2. South-West
3. North-East
4. North-West
Options :
686340101093. 1
686340101094. 2

686340101095. 3
686340101096. 4

Question Number : 74 Question Id : 68634025588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gBéﬂﬂ%ﬁﬁ%ﬁ CAPSRUTR EBFSRASTIHRD. EFW@HRId ¢, DF T A fufezn o

P 5
5 A

4. I-Oigy

Options :

686340101093. 1
686340101094. 2
686340101095. 3
686340101096. 4

Question Number : 75 Question Id : 68634025589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement : Should girls learn arts like judo and karate?
Arguments : I) Yes. It will enable them to defend themselves from rogues and ruffians.
IT) No. They will lose their famine grace.
Which of the above arguments hold for the statement?
L. only argument I
2. only argument II
3. argument [ and argument IT

4. Neither argument [ nor argument 11

Options :

686340101097. 1
686340101098. 2
686340101099. 3
686340101100. 4

Question Number : 75 Question Id : 68634025589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT : T AS(HI DI oS! 3R BRIC ol ST (P 1<Ie) FiE-T FNiege?
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1. Bad dob-1

2. ad dob-II

3. deh-1 AR b 11

4 A dPITR TD 11

Options :

686340101097. 1
686340101098. 2
686340101099. 3
686340101100. 4

Question Number : 76 Question Id : 68634025590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the number which is different from others in the group

8314, 27009, 1315, 3249

1. 8314

| )

. 2709

4, 2518

Options :

686340101101. 1
686340101102. 2
686340101103. 3
686340101104. 4

Question Number : 76 Question Id : 68634025590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 T B 90 Bifo, S A9 G T 9 d o 9 i 82
8314, 2709, 1315, 3249

1. 8314

| )

. 2700
3. 1315
4, 2518

Options :

686340101101. 1
686340101102. 2
686340101103. 3
686340101104. 4

Question Number : 77 Question Id : 68634025591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the pair of words that will fill the blanks to make the sentence true and sensible.

is to Race as Slow is to

1. Gallop. Fast

2. Rapid. Stop

L]

. Rapid. Stroll
4. Run. Fast

Options :

686340101105. 1
686340101106. 2
686340101107. 3
686340101108. 4

Question Number : 77 Question Id : 68634025591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Wea-gi 1 98 BIfo1E, 51 =i fSU 7T a1 1 Tl SR I T1d &1 62
ey cIs 9 du gl e, o o dfim @ dEy T8I

1. Ue, ae

2, XiieTHL 3

3. XiteTHl, egal

4. SIS, O

Options :

686340101105. 1
686340101106. 2
686340101107. 3
686340101108. 4

Question Number : 78 Question Id : 68634025592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: The problem of company A quite better 1s quality than the much advertised product of company B.
Assumptions: I) If your product i1s not good, you spend more on advertisement.
IT) Some people are tempted to buy a product by the advertisement.
Which of the above assumptions (s) is/are implicit in the statement?
1. only assumption I
2. only assumption II
3. only assumption I and assumption II

4. Neither assumption I nor assumption IT

Options :

686340101109. 1
686340101110. 2
686340101111. 3
686340101112. 4

Question Number : 78 Question Id : 68634025592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 9 Al Y4-YRUI-I 7 BT Yd-&RU7 11

Options :

686340101109. 1
686340101110. 2
686340101111. 3
686340101112. 4

Question Number : 79 Question Id : 68634025593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If GOLD 1s coded as HOME, COME 1s coded as DONE and CORD 1s added as DOSE. then how would you
code SONS?

1. TPOT
2. TOOT
3. TOOS
4, TONT
Options :
686340101113. 1
686340101114. 2

686340101115.3
686340101116. 4

Question Number : 79 Question Id : 68634025593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gi¢ GOLD &1 HOME & ¥ ¥ $cax bl Wldl 8. COME H1 DONE & &4 I Heas [d] ol g, 3R
CORD &1 DOSE. & ¥4 T Heas [dbdl 9Idl g, Il 34 SONS Fi P Heas dul?

1. TPOT

| o

. TOOT
3. TOOS

4. TONT

Options :

686340101113. 1
686340101114. 2
686340101115. 3
686340101116. 4

Question Number : 80 Question Id : 68634025594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the odd group in the following:

1.3.9 6,15

[ )

.6, 18,12 30
3.4,16,12, 24
4. 12, 36, 24, 60
Options :
686340101117. 1
686340101118. 2

686340101119. 3
686340101120. 4

Question Number : 80 Question Id : 68634025594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad & 9 foun gz &1 951 Sifdw
1.3.9,6,15
2.6,18,12, 30
3.4.16.12. 24
4.12, 36. 24. 60

Options :
686340101117. 1



686340101118. 2
686340101119. 3
686340101120. 4

Question Number : 81 Question Id : 68634025595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the son of "F'?
Given.

A. A is the father of C. But C is not his son.
B. E is the daughter of C. F 1s the spouse of A.
C. B 1s the brother of C. D 1s the son of B.

D. Q 1s the spouse of B. H is the father of G.

Choose the correct answer from the options given below:

1.B

| )

.C
3.D
4 E

Options :

686340101121. 1
686340101122. 2
686340101123. 3
686340101124. 4

Question Number : 81 Question Id : 68634025595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.B

[

&
3.D
4. E

Options :

686340101121. 1
686340101122. 2
686340101123. 3
686340101124. 4

Question Number : 82 Question Id : 68634025596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sth

In series 2. 6. 18. 54, ........ what will be the term?

1. 4370

4. 7434

Options :

686340101125. 1
686340101126. 2
686340101127. 3
686340101128. 4

Question Number : 82 Question Id : 68634025596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 2.6, 18, 54, ........ ¥ 8 1 Ug 91 gHT?
1. 4370
2.4374
3. 7443
4. 7434

Options :

686340101125. 1
686340101126. 2
686340101127. 3
686340101128. 4

Question Number : 83 Question Id : 68634025597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is represented best by the figure given below:

A. Vegetables. Brinjal. Meat
B. English. Latin, Greek

C. Air, Nitrogen. Ice

D. Carnivore. Elephant. Tiger
E. Hospital. patient. Nurse

O

Choose the most appropriate answer from the options given below

1. A.B. C only

| B

.B.D. E only
3.A,C,Donly
4. A, C.E only

Options :

686340101129. 1
686340101130. 2
686340101131. 3
686340101132. 4

Question Number : 83 Question Id : 68634025597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaiad 3 9 @ = €t 1g s1eid @1 FalaH 1 3 Hiaffid ovar g2
A. oo, §74, 79
B. 3R, AfeT, et
C. 91, AIgeior, %

D. HIEER] oid (P1i-ar). g1t a1
E. 3dra, I, 7

@o

=i fau v faeegl § T 981 3R &1 904 DIl
1.$dU A, B.C
2. HddB.D.E
3. HAAA.C.D
4. PdAA,C.E

Options :

686340101129. 1
686340101130. 2
686340101131. 3
686340101132. 4

Question Number : 84 Question Id : 68634025598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the series 2, 15. 4, 12, 6, 7, 2. 2, what are the next two terms?

1.8.8

| B

. 8.0
3.3.8
4.3.0

Options :

686340101133. 1
686340101134. 2
686340101135. 3
686340101136. 4

Question Number : 84 Question Id : 68634025598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

YWE2. 15.4.12.6. 7. 2.2 T AT G UG &1 g

1.8.8

|

. 8,0
3.3,8
4.3.0

Options :

686340101133. 1
686340101134. 2
686340101135. 3
686340101136. 4

Question Number : 85 Question Id : 68634025599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Should seniority be the only criterion for the promotion?
Arguments: I) Yes, otherwise senior employees do feel humiliated.
IT) Yes. Senior employees are more experienced and must be rewarded for the same.

Which of the above argument (s) hold strong for the statements.

1. Only argument I

| )

. Only argument II
3. Argument I and argument II
4. Neither argument I nor argument II

Options :

686340101137. 1
686340101138. 2
686340101139. 3
686340101140. 4

Question Number : 85 Question Id : 68634025599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. IS dob-1

2. Had dh-II

3. %0 AR TH I
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Options :

686340101137. 1
686340101138. 2
686340101139. 3
686340101140. 4

Sub-Section Number : 4
Sub-Section Id : 686340834
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634025600 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (86 to 90)
Question Label : Comprehension



Following pie chart gives the degree wise break-up of expenditure of a family in a particular month

Investment,34°€—<""" ~_

R

P
NG AT\ 5 Travelling,79.2°
e TN o A

Entertainment,36°

Medicine,39.6° Shoping,68.4°

Groceries,82.8°

Sub questions

Question Number : 86 Question Id : 68634025601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Total amount spent in this month = Z 45.800
Answer the following based above information
What is the the total amount spent (in ¥) on Groceries and travelling together?
1. 26,100
2. 21.600
3.20.610
4. 20,016
Options :
686340101141. 1
686340101142. 2

686340101143. 3
686340101144. 4

Question Number : 87 Question Id : 68634025602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Total amount spent on Groceries. Entertainment and Investments together forms approximately what percent
of amount spent on travelling?

1. 245%

[ ]
| B
—_
s
=]
=

4. 118%

Options :

686340101145. 1
686340101146. 2
686340101147. 3
686340101148. 4

Question Number : 88 Question Id : 68634025603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the total amount spent by the family on shopping and entertainment together?

1.29.618

| )

.2 11.908
3.2 12,740
4,313,282

Options :

686340101149. 1

686340101150. 2

686340101151. 3
686340101152. 4

Question Number : 89 Question Id : 68634025604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the respective ratio of amount spent by the family on Medicine to the amount spend of Groceries?

1.1:2

[ )
| ]
LS

4.13:21

Options :
686340101153. 1
686340101154. 2



686340101155. 3
686340101156. 4

Question Number : 90 Question Id : 68634025605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the amount spent by the family on travelling?

1.2 10,076

[

.2 10,534
3.206,870
4.7 8,702

Options :

686340101157. 1
686340101158. 2
686340101159. 3
686340101160. 4

Question Id : 68634025600 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

frafafad o & ve uhar & e fafey ae | oo &1 fedli-ar faurem figarman &
Invcslmcnl,SéP@Z"_—;\\
il

NG AT > Travelling.79.2

Entertainment,36°

Medicine,39.6 Shoping,68.4°

Groceries,82.8°
Sub questions
Question Number : 86 Question Id : 68634025601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



SIS T 5311 $aT ol = 7 45.800
SUa Ga1 & YR TR FEfiad ugl & IR e
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1. 26,100

[ ]

. 21,600
3. 20,610
4.20.016

Options :

686340101141. 1
686340101142. 2
686340101143. 3
686340101144. 4

Question Number : 87 Question Id : 68634025602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

umw_i?mmma“fwﬁ@nﬁ%amm HAReH 3R a9 or ooy ue ary fiees any faaan
T g2

1. 245%

| o

.218%
3. 154%
4. 118%

Options :

686340101145. 1
686340101146. 2
686340101147. 3
686340101148. 4

Question Number : 88 Question Id : 68634025603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U URAR 7 WG 3R TR &1 Ue 91y fare: $d fba- &g faan

1. 29,618

| o

.2 11,908
3.212.740
4.3 13,282
Options :
686340101149. 1
686340101150. 2

686340101151. 3
686340101152. 4

Question Number : 89 Question Id : 68634025604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORAR §RI SATSTEEl IR o0 &1 115 MR SR ORI & HHH U= 98 &1 115, 18 &1 SdTd &1 52

112

|

. 223
3.11:23
4. 13:21

Options :

686340101153. 1
686340101154. 2
686340101155. 3
686340101156. 4

Question Number : 90 Question Id : 68634025605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e URaR = a1 R a1 g S

1.2 10,076

|

. 210,534
3.26,870
4.2 85,702

Options :

686340101157. 1
686340101158. 2



686340101159. 3
686340101160. 4

Sub-Section Number : 5
Sub-Section Id : 686340835
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634025606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension

Based on the below information answer the following questions:

P. Q. R. 5. T and U are six lectures in a college each teaching a different subject Mathematics. Physies.
Sociology. Biology. Geography and History not necessarily in the same order. There are only four female
lectures following information given:

i. Q teaches History
i1. No female lecturer teaches Biology or Mathematics
ui. S. who teaches Sociology. 1s the oldest.
1v. P 1s older than R and teaches physics
v. The youngest teaches Biology and U is not the youngest
vi. T teaches mathematics and 1s older than P but younger than Q and U

Sub questions

Question Number : 91 Question Id : 68634025607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If all lectures arranged i ascending order of their ages, What will be the position of the two male lectures?

1. 4% apd 6t

11].(1

L 20d apd gt

[

3. 15t and 3

4, 3% 4 5t

Options :

686340101161. 1
686340101162. 2
686340101163. 3
686340101164. 4

Question Number : 92 Question Id : 68634025608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who teaches Biology

1.P

| B

£

38

4. U
Options :
686340101165. 1
686340101166. 2

686340101167. 3
686340101168. 4

Question Number : 93 Question Id : 68634025609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which subject does U tech?
1. Geography
2. Sociology
3. Mathematics
4. Biology
Options :
686340101169. 1
686340101170. 2

686340101171. 3
686340101172. 4

Question Number : 94 Question Id : 68634025610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the group comprises only females?
1. RPSU
2.R5TQ
3.PQTU
4. PQSU
Options :
686340101173. 1

686340101174. 2
686340101175. 3



686340101176. 4

Question Number : 95 Question Id : 68634025611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the youngest lecturer?

1.8

| )

.Q
R
4. T

Options :

686340101177. 1
686340101178. 2
686340101179. 3
686340101180. 4

Question Id : 68634025606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension
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ii. S, GHTSTRITE UGTdl & Sif 31 H ¥ad 981 5

iv. P, R @ qoHT H S H 93151 )

v. Jad a1 ddaR Sitd fa9H uerdl § 3R U 9 gd1 el g

vi. T TM0T UGTT & 3R 39! 39 P ¥ iU &, dfded Q Ud U &1 o1 ¥ 34! SH FH |

Sub questions

Question Number : 91 Question Id : 68634025607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g T2t TRy 1 I01 39 & SFTER HRIG! 0 H ouaiedd fbal oy o &l JoY WdeRy B =ifd a1
B

1. 9rft SR B3t
2. TERI AR B3I
3. WY SR o
4. Jaita R g=dl
Options :
686340101161. 1
686340101162. 2
686340101163. 3

686340101164. 4

Question Number : 92 Question Id : 68634025608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oI Sl fas ggra 82

: G

| o

R

3.8

4. U
Options :
686340101165. 1
686340101166. 2

686340101167. 3
686340101168. 4

Question Number : 93 Question Id : 68634025609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U for fawa &t ggrar 82
1.3 IS

TSR
TTfoTd

. Sitd fas

Options :

| ]

[#%]

=



686340101169. 1
686340101170. 2
686340101171. 3
686340101172. 4

Question Number : 94 Question Id : 68634025610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Profefad 3 3 v wug & Haa aRkan 2

1. RPSU

|

.RSTQ
3. PQTU
4. PQSU
Options :
686340101173. 1
686340101174. 2

686340101175. 3
686340101176. 4

Question Number : 95 Question Id : 68634025611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e ¥ 4 oH ed garg?

1.5

b2

SR
4.T

Options :

686340101177. 1
686340101178. 2
686340101179. 3
686340101180. 4

Sub-Section Number : 6
Sub-Section Id : 686340836
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634025612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)



Question Label : Comprehension

The following table gives the number of vehicles (in thousands) of different models and colours sold in two
cities in a particular year

Type Hyderabad Bangalore
Colour Colour
Black |Red | Blue | White | Silver [ Black |Red | Blue | White | Silver
A 40 | 25| 55 T3 15 45 32 ] 40 60 20
B 20 | 35| 60 80 20 30 37| 39 81 33
C 35 30| 50 o0 35 40 42 | 41 6 37
D 45 40 | 45 85 40 33 39 ) a0 42
E 50 |35 35 60 30 5 44 | 43 77 22
F ) 42 1 40 &5 a2 47 34| 45 87 I7

Based on the above table answer the following questions
Sub questions

Question Number : 96 Question Id : 68634025613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In Hyderabad the number of vehicles sold was the maximum for which of the colour-model combinations?
1. White-C
2. Blue-B
3. Silver-B
4. White-D
Options :
686340101181. 1
686340101182. 2

686340101183. 3
686340101184. 4

Question Number : 97 Question Id : 68634025614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The total number of Silver coloured vehicles Sold in Bangalore is approximately what percentage of that in
Hydrabad?

1. 140%
2.130%
3. 100%
4, 90%

Options :



686340101185. 1
686340101186. 2
686340101187. 3
686340101188. 4

Question Number : 98 Question Id : 68634025615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the difference between the number of blue coloured model C Vehicles sold in Hyderabad and the
number of red coloured model F Vehicles Sold in Bangalore?

1. 16,000
2. 12,000
3. 10.000
4. 8,000

Options :

686340101189. 1
686340101190. 2
686340101191. 3
686340101192. 4

Question Number : 99 Question Id : 68634025616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of blue coloured vehicles of model E and D. sold in Bangalore 1s exactly equal to the number
of white coloured Vehicles of which modal in Hyderabad

1.F

[ ]

E
3.B
4. A

Options :

686340101193. 1
686340101194. 2
686340101195. 3
686340101196. 4

Question Number : 100 Question Id : 68634025617 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For which model. the difference between white coloured vehicles sold in the two cities 1 minimum?

1.A

2

.B
i 1

4.D

Options :

686340101197. 1
686340101198. 2
686340101199. 3
686340101200. 4

Question Id : 68634025612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension

fafaRaa oifte & o Aifda ad § 5 wet © fiys Aisc 3R 37 & <9 70 g+ & 98 @eR ) 4 TR &

THR EEI UGS
EUl 7
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A | 40 |[25]| 3| 15 15 | 45 |32]40| 60 | 20
B | 20 |35|60] @0 20 | 30 [37]39| 8L | 35
C | 35 |30] 30| 90 35 | 40 |42[41| 6 37
D | 45 |40 45| 85 20 | 35 [39|37]| %0 | a2
E | 50 |35] 35| 60 30 | 50 [44|43| 77 | 22
F | 55 |42]| 40| 6 52 | 47 |34|a5| 87 | 17

U dIfeia o SHIUR UR HRfeiRgd wel & 3w Gifefg:

Sub questions

Question Number : 96 Question Id : 68634025613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gax1ag 1 &4 Y & W-nTsd Haie & atenl & siftean s o
1. glgc-C

2. &0-B
3. e

4. ®Igc-D



Options :

686340101181. 1
686340101182. 2
686340101183. 3
686340101184. 4

Question Number : 97 Question Id : 68634025614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR H &9 T RieaR W1 & a6 ©] o 9] BT YL galas &f go-l 1 a1 2

1. 140%

| o

. 130%
3. 100%
4. 90%

Options :

686340101185. 1
686340101186. 2
686340101187. 3
686340101188. 4

Question Number : 98 Question Id : 68634025615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BEXIEIE § a9 7Y &g U & AISd C & ag-l & ST 3R dTaR § &9 U XS W1 & A1sd F & aie| $1
T F T SR 87

1. 16.000

|

. 12,000

[ N]

. 10.000
4. 8.000

Options :

686340101189. 1
686340101190. 2
686340101191. 3
686340101192. 4

Question Number : 99 Question Id : 68634025616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR &9 10 E 3R D Al & &g 71 & dI6-1 &1 ol TA] gaxialg H 89 T I3 I & HH 4
AIed &1 I & SRIEN 87

;L

| o

. E
3.B
4. A

Options :

686340101193. 1
686340101194. 2
686340101195. 3
686340101196. 4

Question Number : 100 Question Id : 68634025617 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 eI H & T ®T5e TS dlel H iR g Alsd § giad 82

1A

b2

B
50
4.D

Options :

686340101197. 1
686340101198. 2
686340101199. 3
686340101200. 4



